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Today's Learning Goal(s):
By the end of the class, | will be able to:
a) Ready for tomorrow's Unit 1 Summative.
Return Exit Cards and Discuss
Complete and Correct Handout on following screens.

Correct Review homework from last day (using student solutions?)
pp- 48-49 #1, 2, 4d (use substitution), 8,
9d (use elimination+show a check), 10b, 12d, 13

e

Today's Practice
EXIT CARDS?
pp-50-51 #10ab, 14, 19: define variables and the system — BUT DON’T SOLVE

In your notebook:
pp- 50-51 #18, 5, 16bc
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Reviewing Equivalent Linear Relations
and Equivalent Linear Systems

x+y=6 @
x+2y=10 ©@
dx—y=4 O
x-2y=—6 ®
x+y=6 O
O+@ x+2y=100@
G o
O+® x—-2y=—6 @
1 7
] 4x—y=4 O
3xO ©-0 x+y=6 @
®x fy=6 52 i% ) The above are all equivalent linear systems.

The above are all equivalent linear equations.
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MPM 2DI 1.R Linear Systems Unit Review Date: %j >/ Z&

A linear system is a set of 2 (or more) lines.
The solution to the system is the Point Of Intersection (P.O.1.) of those lines.

Ex. 1 a) Solve the sy graphing:
1

3x+2y+18=0 O© y:Tx—2 ®

b) Did you remember to state your solution?
(i.e. Identify the coordinates of the point of intersection.)
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Ex. 2 Solve the system by substitution, Checlt o @
and include a proper check. K= Y- o
3x—4y=-13 @ K==
2x y=-12 @

G pein= g 3(;}% 23 Graxy 3=-0
Sy (en )=y 2l -w=13 26)6)

N
3K —8x-Y¥=-1y ,clg l’b’rll‘ =-I{ %3
“Sk=-ndey /0 =-12
(-7,-2) \S)_(X 7 Uj . L5 =R
[, 3) & Ho ol
Ex. 3 Solve the system by elimination, M @
and include a proper check.
2x-8y =1 i Ci 5,,‘0 “ (9 ’715 SX?LGJ QS’
S5x+6y=-2 ©
2 MOx-4y=35 @ ‘QK g(’”) "2 )J‘?('f‘)
* N ~() =°{‘ 2Y+6-L? :»g—%
_Sav=39 AX=1%- s-q LR

K] = | - 2L
5 Mt 5 2

D)
9=% 7 (37 =3 @M
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Method Distance Speed Time
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headioind | JO00 = p-w ¥ b
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1\

3000= (pr)S || 3p00 =(p-)b
= Y( M) = b = G(/\)
3000: YFP{-YW \ ?000 ‘0
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puz £z A=sC
Let b represent the "best" cruise speed in km/h.
Let e represent the "economy" cruise speed in km/h.

b L e = = Q30O
¥ 24+ 2€ = A0 2\,’(3('“?3 B850
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sz kis Prving pond i oo,
the eed § e Gt ),

Method Distance Speed Time
apstream | &
Totals:
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